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DPP

DAILY PRACTICE PROBLEMS

Class : XIIth Subject : BIOLOGY
Date : DPP No. : 6

Topic :- Reproductive Health

1. Medical termination of Pregnancy (MTP) is considered safe up to how many weeks of pregnancy?
a) Eight weeks b) Twelve weeks c) Eighteen weeks d) Six weeks

2. ldentify the false statement regarding the techniques of contraception

I. There are many side effects of tubectomy and vasectomy
I1. Purpose of tubectomy is to prevent egg formation

I1I. The most important component of the oral contraceptive pill is progesterone
IV. Contraceptive oral pills help in birth control by preventing ovulation
a) I, Il and III b) I and II c) I, IVand II d) IVand Il

3.  What measures should be taken to avoid the transmission of STD?

I. Avoid sex with unknown

[1. Avoid sex with multiple partner

I1I. Do protected sex

IV. Avoid sharing needle

a) [, lland IV b) [, Il and III c) I,lland IV d) All of these

4. When MTP was legalized in India?
a) 1951 b) 1971 c) 1981 d) 1924

5. Injections and implants (the progesterone or progesterone oestrogen combination) are used by the
females under the
a) Skin of the inner arm above elbow b) Vagina
c) Stomach’s upper skin d) Cervix

6. Higher population in cities is mainly due to:
a) More opportunities for education b) Availability of clean drinking water
c) Better sanitation d) Higher income resources.

7. Population explosion is
a) Increased frequency of diseases in population
b) Rapid increase in population number
c) Rapid decrease in population number
d) None of the above
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The most important component of contraceptive pills is:

a) Progesterone b) Growth hormone

¢) Thyroxine d) Luteinising hormone

Find out correct choice for [UD
I. Increases phagocytes of sperms

II. Releases Cu?" ions that suppresses the sperms motility and fertilizing capacity of sperms

[II. Make the uterus unsuitable for implantations
a) [, [l and III b) I and II c) Only I

Which is the figure given below showing in particular?

T/

a) Uterine cancer b) Tubectomy c) Vasectomy

In India, first census was conducted in:
a) 1851 b) 1872 c) 1921

Infertile couples can produce a baby with the help of
a) ART b) AIT c) GIFT

What is the function of copper T?

d) None of the above

d) Ovarian cancer

d) 1951

d) All of the above

a) Prevents mutation b) Prevents fertilization

c) Prevents zygote formation d) (B) and (C)

What was the world human population in 20007?
a) 6 billion b) 5 billion c) 3 billion

When the ovulation is expected in a normal menstrual cycle?

d) 2 billion

a) 10-17 day of menstrual phase b) 12-14 day of menstrual phase
c) 10-20 day of menstrual phase d) 6-7 day of menstrual phase

The best way to decrease population of a country is:

a) To educate people b) To have better houses
c) To kill people on large scale d) To practise and implement family planning

Oral polio vaccine and hepatitis first dose is given to a child at

a) 6 weeks after birth b) 10 weeks after birth  c) 20 weeks after birth  d) 24 weeks after birth

Age for marriage in India is
Male Female

a) 21years 18years b) 25 years 17 years
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c) 20 years 20 years d) 28 years 22 years

19. Which of the following techniques are used in IVF?

L ZIFT IL.IUT III.ICSI IV.AI V.IUI
a) land III b) I and II c) [T and III d) All of these

20. High increase in human population is due to:

a) Increase in average life span b) Better medical facilities
c) Decrease in death rate d) All of these
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